/DVIRB

3UDFRZQLN 5RINaDG P JU *UDERZVND .DURILQD 7\J

N
= %H]SIHFTHEWIZR
= SRIDURZH REIHNIyZ EXG
a Z PJU*UDERZVND
oy _DIRIQD $ 103 %
T s z
o
x 7\G]
» PJU *UDERZVND .DURIQD
$
352727<32:1% *
N 7N
5 9%H] SIHFTHEVIZR LQIUDVIUXNIXUN EXGRZIDQHI 9%H]SIHFTHEVIZR LQIDVIUXNIXUN EXGRZIDQHI
PJU *UDERZVND .DURIQD $ t03.%0 PJU *UDERZVND _DURIQD $ t03.%0
- &
7N 7\G] N N
%H]SIHFJHEVIZR SRTDURZH REIHNIyZ EXG PJU *UDERZVND .DURIQD $ %H]SIHFTHEVIZR LQIDVIUXNIXU\ EXGRZIDQHI PJU %H]SIHFTHEVIZR LQIDVIUXNIXUN EXGRZIDQHI PJU
a IDE  PJU *UDERZVND . DURILQD 352727<32:1,$% " *UDERZVND - DURIQD t03%0 = *UDERZVND . DURIQD t03%0 &
$ $ $ $
g 352727<32:1,$ " 03 %, / ‘ ‘
=) 7\G] 7\G]
‘
7\G] %H]SIHFTHEVIZR LQIDVIUXNIXUN EXGRZIDQHI || [%H]SIHFTHEVIZR LQIUDVIUXNIXU\ EXGRZIDQHI
PJU *UDERZVND .DURIQD $ PJU *UDERZVND .DURIQD $ =03 ,% O||[PJU *UDERZVND .DURIQD $ t03.%0
- &
—
)
7\G]
PJU *UDERZVND .DURIQD $
7\G] 7\G]
9%H]SIHFTHEVIZR LQIDVIUXNIXU\ EXGRZIDQHI PJU *UDERZVND . DURIQD $ t03.%6 %H]SIHFJTHEWIZR SRTDURZH REIHNIyZ EXG 1DE PJU
a : *DERZVND .DIRIQD $  352727<32:1$ ~ -0
o 3%= /
u 7\G]
> %H]SIHFJHEVIZR SRTDURZH REIHNIyZ EXG
Z  PJU*UDERZVND .DURIQD $ 03
% = -
7\G] 7\G] 7\G]
%H]SIHFTHEVIZR LQIDVIUXNIXUN EXGRZIDQHI | |%H]SIHFTHEVIZR IQIUDVIUXNIXU\ EXGRZIDQHI %H]SIHFTHEVIZR LQIDVIUXNIXUN EXGRZIDQHI PJU *UDERZVND . DURLQD $ S03 %6
PJU *UDERZVND .DURIQD $ 203 % 6| |PJU*UDERZVND .DURIQD $ S03 %6 &
z & ‘
7\G] 7\G]
a %H]SIHFJHEVIZR SRTDURZH REIHNIyZ EXG 9%H]SIHFJHEVIZR SRTDURZH RELHNIyZ EXG IDE PJU *UDERZVND . DURILQD
L Z  PJU*UDERZVND .DURIQD $ t03 | |$ 352727<32:1% t03%= /
™ % = -
T) X H
L 7\G]
o ) 7\G] %H]SIHFJHEVIZR SRTDURZH RELHNIyZ EXG IDE PJU *UDERZVND . DURILQD
%H]SIHFJHEVIZR SRTDURZH REIHNIyZ EXG $  352727<32:1% 03 %=/
Z PJU*UDERZVND .DURIQD $ 03
% = - 7\G]
%H]SIHFJHEVIZR SRTDURZH RELHNIyZ EXG IDE PJU
*DERZVND .DURIQD $ 352727<32:1,% " -0
3%= [/




3UDFRZQLN 5RINaDG P JU *UDERZVND .DURILQD 7\J

/DVIRB

9%H]SIHFJHEVIZR SRTDURZH RELHNIyZ EXG
Z PJU*UDERZVND .DURIQD $ =03

Y% = -

7\G] \C]
%H]SIHFJHEVIZR SRTDURZH RELHNIyZ EXG %H]SIHFJHEVIZR SRTDURZH REIHNIyZ EXG (IDE PJU *UDERZVND
Z PJU*UDERZVND .DURILQD $ =03 _DURIQD $ 352727<32:1,% T 03 %= [/
% = -
g 7\G]
T . 7] 9%H]SIHFJHEVIZR SRTDURZH RELHNIyZ EXG (DE PJU
= %H]SIHFJHEVIZR SRTDURZH RELHNIyZ EXG *UDERZVND .DURIQD $ 352727<32:1,%$ " =0
% Z PJU*UDERZVND -DURIQD $ =03 3%= 7/
0 = -
3 % -
7\G]




